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Embedded Systems are used for:

1) - Computational
2) - General purposes
3) + Specific purposes
4) - all of these

2)
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Most microcontrollers have …………. architecture:

1) - Von-Neuman architecture
2) + Harvard Architecture
3) - both Von-Neuman & Harvard Architectures
4) - none of the them

3) All PIC16F's Microcontrollers are established with ……. (CPU) unit:
1) + 8-bit Microprocessor
2) - 8-bit Microcontroller
3) - 16-bit Microprocessor
4) - 16-bit Microcontroller

4) RISC architecture is characterized by:
1) - the usage of large number of registers and limited access to Memory
2) - Fixed Instructions & Registers size
3) + All answers
4) - none of these
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5) PIC16F877 & PIC16F84 microcontrollers need ______ clock cycles to execute most of their Assembly
instructions.

1) - Two instruction cycle
2) + 4
3) - 2
4) - 2, 4, or 8

6) The depth of the PIC16F877's stack has ______ levels of 13-bit width.
1) - 2
2) - 4
3) - 6
4) + 8

7) The Flash ROM can be used for:
1) - Storing temporary data
2) - storing of permanent data only
3) + hosting the driving program & some of data variables like lookup
4) - hosting the driving program only

8) The interrupt of the timer2 couldn't be used for waking up the PIC16F873-Mc when it is in a sleep mode.
1) + true
2) - false

9) The Timer1 of the PIC16F84-Mc has an internal register of 16-bit (Timer1L & Timer1H):
1) - true
2) + false

10) It's not true that any external interrupt can wake up the microcontroller from the sleep mode:
1) - true
2) + false

11) Some applications of the CCP module in PWM mode are:
1) - Generating repetitive pulses, Measuring Frequency, DAC & Wake up MC
2) + Generating repetitive pulses, Measuring Frequency & DAC
3) - Generating repetitive pulses & Measuring Frequency
4) - all previous answers are right, in addition to get the MC in sleep mode

12) The slowest clock tick interrupt rate, which can be generated using Timer0 without pre-scaler, and it
operated with oscillator frequency of 4 MHz, is:

1) - 15.62587 Hz
2) + 3.906 KHz
3) - 15.26 Hz
4) - 3.25 KHz

13) The fastest clock tick interrupt rate, which can be generated using Timer0 operated with oscillator
frequency of 4 MHz, is:

1) + 1 MHz
2) - 3.906 kHz
3) - 4 MHz
4) - none of the above

14) The slowest interrupt frequency, which can be generated using Timer2 operated with oscillator frequency
of 4 MHz, is:

1) - 15.627 Hz
2) + 15.26 Hz
3) - 15.25 Hz
4) - 15.255 Hz

15) In order to employ Timer0 in counter mode for counting up to 1000 events, you should function/configure
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its pre-scaler with at least _____.
1) - 256 Pre-Scale value
2) - 64 Pre-Scale value
3) - 16 Pre-Scale value
4) + 4 Pre-Scale value

16) Timer2 module on the PIC16F877-MC couldn't generate an interrupt.
1) - True
2) + False

17) The Assembly instruction, MOVLW 583, didn't affect any bit in the status register.
1) - True
2) + False

18) The Assembly instruction, MOVF Cntr, will affect (may change) the logic value of at least one bit in the
status register.

1) - True
2) + False

19) After the execution of the Assembly instruction, ADDLW 0xFA, the bit value of the carry-Flag (CF) will
be '1'. Assume, previous value of W-reg was 0x90.

1) + True
2) - False

20)

1) - True
2) + False

21)

1) - True
2) + False

22)
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1) - Little bit Similar
2) - Different
3) - Approximately Equal
4) + Exactly Equal

23)

1) - The Origin Start Point
2) + The Destined/Designed Point
3) - The Middle point between the Start & the Designed Points
4) - None of the previous answers

24)

1) - The Origin Start Point
شرح
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2) + The Destined/Designed Point
شرح

3) - The Middle point between the Start & the Designed Points
4) - None of the previous answers

25)

1) - A circular fashion starting from and passing through the Starting Point
2) - A spherical fashion starting from and passing through the Starting Point
3) - A Rectangular way starting from and passing through the Starting Point
4) + A Squaral round starting from and passing through the Starting Point

26)

1) - The initial point of the second quarter arc of the circular round
2) - The initial point of the second quarter arc of the Spherical round
3) - The initial point of the second side (assume width) of the rectangular round
4) + The initial point of the second side of the Squaral round

27)
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1) - 4 minutes
2) + 4 minutes and 12 seconds
3) - 4 minutes and 16 seconds
4) - Will not exactly back or pass throughout its original/starting point

28) According to the usage of the CCP module in PWM mode for Digital-to-Analog (DAC) conversion, an
external ______________ is needed.

1) + RC Filter circuit.
2) - Low-pass RC Filter circuit followed by bandpass filter.
3) - High-pass RC Filter circuit followed by bandpass filter.
4) - Band-pass RC Filter circuit followed by bandpass filter.

29) A Microcontroller like PIC16F84 which is developed without CCP on-chip module couldn't be used for
generating a digital waveform.

1) - True
2) + False

30) A square waveform with 50% duty cycle which is generated using the CCP module in PWM mode, can
drive a motor with:

1) - Suitable average current for guiding a motor in stable driving
2) - some +ve average current but, it doesn't enough to drive a motor
3) + a zero average current which stops the movement of a motor
4) - none of the above answers.

31)

1) - 200 seconds
2) - 200 minutes
3) + 1 seconds
4) - 1 minute
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32)

1) - Approximately 1 call, which generates 3 minutes and 20 seconds
2) + 240 calls
3) - Doesn't possible since the OuterSub is generating more than 4 minutes in 1-call
4) - 4 calls

33)

1) - a
2) - b
3) + c
4) - d

34) Which is the most basic non-volatile memory?
1) - Flash memory
2) - PROM
3) - EPROM
4) + ROM

35) Which of the following memories has more speed in accessing data?
1) + SRAM
2) - DRAM
3) - EPROM
4) - EEPROM

36) What is the purpose of address bus?
1) - to provide data to and from the chip
2) - to select a specified chip
3) + to select a location within the memory chip
4) - to select a read/write cycle View Answer

37) Which of the following is not a serial protocol?
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1) - SPI
2) - I2C
3) - Serial port
4) + RS232

38) Which of the following is an ideal interface for LCD controllers?
1) - SPI
2) - parallel port
3) - Serial port
4) + Motorola-Bus

39)

1) - No one interrupt is enabled
2) - Global Interrupt Enable bit only
3) + Timer0, External, and Port-B on-change interrupts
4) - All available interrupts are enabled

40)

1) - a
2) + b
3) - c
4) - d

41)

1) - The External Interrupt
2) - Both the Port-B on change & the External Interrupt
3) - Timer0 Interrupt
4) + The Port-B on change Interrupt

42)
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1) - No Interrupt is happened
2) - The Port-B on change or the External Interrupt
3) - The Port-B on change, the External Interrupt or the Timer0 Interrupt
4) + unknown
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